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Answer the following questions:
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Mark the correct statements with this (\/) and the mcorrect

ones with this (x):
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Read the examples, then change the sentences usiﬁg/;,.:..ot
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Combine each pair of the following sentences using ﬂ as

shown in the example bearing in mind that ug; is a sister
of u\
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Rewrite the following sentences using u@ as explalned in the

examples:
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Read the foIIowmg sentences, then write them replacmg the
figures with words:
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Learn the ordinal numbers:
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Qualify each of the following nouns with the ordinal number
derived from the number appearing before it:
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The teacher asks every student a question containing ;,,,,;jf
¢clJS” and the student replies saying GL’ .
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" The teacher asks every student a question contalnmg \-‘*G“‘

such as ?J}H LQ.G.J‘ (pointing to two students), ?&;;.\ - 4
(pointing to two books), and so on.
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POINTS TO REMEMBER

In this lesson, we learn the following:

1) Comparative and superlative degrees of the ad]ectlve Ad]ectlves in
the comparative degree are on the patter of J—d! like J.w\ more
beautiful,’ d—*" ‘better,’ j’«ﬁ‘ ‘smaller,’ 3-'\9‘ ‘older’. As we have

already learnt, words on this pattern are diptotes and so have no
tanwin.

J.,ef is followed by uﬁ ‘than’, e.g.:

.J'm o J }b& Jsl> Hamid is taller than Bilal.”

3

]

Jadf

..—-y,\

is the same for masculine, feminine, singular and plural, e.g.:
45T o ,.)jbid‘)\-: ‘Bilal is taller than Aminah.’
W e :j}b\iﬂ ‘Aminah is taller than Bilal.”
RUZIEW | R :_jj.b\;u'ﬁ\ ‘The sons are taller than the daughters.’
;Lfﬁ\ o i)jlo\’u\.di ‘The daughters are taller than the sons.’
Note the following examples wherein _y is followed by a pronoun:
ey Lywi= 31 You are better than 1.”
L‘J—» sl 61T am shorter than you.’
\......, \...n )S | %2 ‘They are older than we.’

Jiﬁ is also used for the superlative degree. In this case, it is followed by a

majrdrnoun:

i ’MJ‘ S g.JUa e F—-Mj\ ‘Ibrahim is the best student in the school.’

! Note that in s the ndnhas shaddah. There is no shaddah with other pronouns:
&,e}i»,\.'gia,,’g.u, but & has shaddah because it is made up of » and u.

8 g 2.2E . % &
2 = means ‘age’. tw ,S1 literally means ‘bigger in age'.
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W 3 daslr 2081 A5Y1 A-AZhar s the oldest university in the world.”
M J :\:Na i.:ﬁ 's'\.&.!a\é ‘Fatimah is the eldest student in our class.’

The Arabic name for both the comparative and superlative degrees is Jﬂi
J_,e.a.ﬂ
2) ﬂ) ‘but’” is one of the sisters of 01, and so acts like 01, e.g.:

NS Vel ﬂj A.@.au JEM 'Bilal is hard-working, but Hamid is

lazy.’
- gs-QJ ij.i @‘ ‘My brother is married but I am a bachelor.’
55 L@.&S} cu:.\.e s’)""" My car is old, but it is strong.’

3) d\—< is one of the sisters of o and so the noun following it is

mansdb. It means ‘it looks as if’, e.g..
R o Y1 O It looks as if the imam is sick.”

&l IS Caadl) oda e 'Who s this girl? Tt looks as if she is your

sister.’
4 8,51 ada 008 It looks as if this car belongs to him.”
bl e S You seem to be from India.’

4) The numbers from 11 to 20 with a masculine ma'did. These
numbers are compound: they consist of two parts. The ma'did is

singular, mansab, e.q.:
\ij s 4> eleven stars’
LS e Jx.3 “nineteen books’
We will deal with these numbers under four heads:
(@) Numbers 11 and 12:

Here both parts agree with the ma'ddd, e.q.:
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Wb ie 351 ‘eleven male students.”

EL,JLE § s (64> eleven female students.’

Wb s LJ\ ' twelve male students’

&.’J\Io ; s L.a\ ‘twelve female students.’
(b) Numbers from 13 to 19:

Here the second part agrees with the ma'ddd and the first part

’/r"’

masculine *eminine femmlne mascuhne

does not, e.g.:

P

Ul s B

ti“

As you can see, in Wb wie i3 the ma'diad, W\, is masculine, so the

second part of the number —é& is masculine while the first part iYW is

feminine as indicated by the 8-ending.

In &b 6,-'& EA, the ma'did W\ is feminine, so the second part of
the number 8 ,is is also feminine while the first part &M is masculine as

indicated by the absence of é.

In this lesson we learn these numbers only with the masculine ma'ddd. We

will learn them again with the feminine ma'ddd in Lesson 6.

(c) These numbers are mabni (indeclinable).’ In other words, they do
not change to indicate their function in the sentence. This will
become clear by comparing the numbers from 3 to 10 with these

numbers.

! The word &t and & in ey Wi and 3;.’.:& L..ﬂ are mu'rab (declinable). In the jarrand nasb cases, they
become s“ and ,_5..:\ respectively, e.q.:

Yo, e G - T have twelve riyals.’

Yy ) e SN j ‘I want twelve riyals.’

’

iﬂz ) pE gﬁb S s “This book costs twelve riyals.
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Q‘ﬁb) il 45-—\29 ‘T have three riyals.’
uﬁb) e -U)\ ‘T want three riyals.’

U‘ﬂb ) 457\-: FM\ Ida “This pen costs three riyals.’

Ty A

‘2\;),;&45% .u)\

\'Ah

Ca < A

'ﬂb) s Ay v.\.a.\\ R
Note that L__:\ and F] commence with Aamzat al-was/ and it is omitted in
pronunciation when preceded by a word.
(d) The number 20 is CJ )3—2& It has the same form for both the
masculine and feminine ma'ddd. The ma'did is singular, mansdb,
e.g.:
Cj‘b /o)} o:‘ : iJ\b /o}} a:'
We will learn the numbers from 30 to 90 in Book V & ¢l ol We'll learn
there the other cases of these numbers as well.
5) The word for first’ is J}‘ Ordinal numbers from 2 to 10 are formed on
the pattern of J&\é: cJ\S‘third' é&  fourth’, w" fifth’, ;}m;» 'sixth’.
Second’ is d\—: which is originally as’b like JLG in Lesson 1. With J1, it is
L{,:»LJ\
6) S&IJS . f: visn't it s0? If a student is asked ‘_,«J\ ch—JUﬁ
‘“J-\f the answer is Gb We'll learn more about ,__;L' in Lesson 6.

7) Lo.ea‘ ‘which of the two?’, e.g.:

2

¢ i gl LLid o U J~2dll & ‘There are two students from
France in the class. Which of them is your brother?”
8) The two broken plural forms JeWe and J.slis like 3518 and el

are called &}a}‘ sy
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hostel

star

team

full brother

in dream
window, pl. :\9‘ §

age, tooth

35

month

player
spacious, large
famous

price

lazy (fem. of 05&3)



